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Aufgabe 2 - Einstieg in GPSS

* Gegebenes GPSS-Programm verstehen
e Simulation mit GPSS-IDE durchfuhren
* Ergebnisse auswerten

* |Informales Wort-Bild-Modell ableiten

* Prasentation in nachster PR-Veranstaltung
(inkl. GPSS-Programm zeilenweise erklaren
und Ergebnisse interpretieren)

o /eit: | Woche
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Aufgabe 2 - Einstieg in GPSS

* Gegebenes GPSS-Programm verstehen
e Simulation mit GPSS-IDE durchfuhren

* Ergebnisse auswerten
* Informales Wort-Bild-Modell ableiten

* Prasentation in nachster PR-Veranstaltung
(inkl. GPSS-Programm zeilenweise erklaren
und Ergebnisse interpretieren)

* Leit: | Woche - Keine elektronische Abgabe
- Erscheinen ist Pflicht
- Bearbeitung in 2er-Gruppen

Mittwoch, 28. April



Aufgabe 2 - Einstieg in GPSS

; GPSS World Sample File - MANUFACT.GPS, by Gerard F. Cummings

3k 3k 3k 3k 3k 3k 5k %k %k 3k 3k 3k 5k %k 3k 3k 3k 3k %k %k 3k 3k 3k 3k 5k %k 3k 3k 3k 3k %k %k 3k 3k 3k %k %k %k 3k 3k 3k 5k %k %k 3k 3k 3k 5k %k 3k 3k 3k 3k %k %k 3k 3k 3k %k %k %k 3k 3k 3k %k %k *k >k %k %k k

R Manufacturing Company %
3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 5k 3k 3k 3k %k 3k 3k 3k 3k 5k 5k 5k 3k 3k 3k %k 3k 3k 3k 3k 5k 5k 5k 3k 3k %k 3k 3k 3k 3k 3k 5k 5k 5k 5k 3k %k k 3k 3k 3k 3k 5k 5k 5k 3k %k %k >k %k %k %k ok >k k >k k k k
& Time Unit is one hour *
Sizeorder FUNCTION RN1,D7 ;0rder size
.10,6/.35,12/.65,18/.80,24/.92,30/.97,36/1.0,48
Transit  TABLE M1, .015, .015,20 ;Transit time
Number TABLE X1,100,100,20 ;No. packed each day
Ptime VARIABLE .0028#P1+0.0334 ;Packing time
Amount EQU 1000 ;Initial stock amount
Stock STORAGE 4000 ;Warehouse holds
; 4000 units

3k 3k 3k 3k 3k 3k 3k 3k 3k 3k sk 3k 5k 5k 3k 3k 3k 3k 3k 3k sk sk 5k 5k 5k 3k 3k sk 3k 3k 3k sk 5k 5k 5k 5k 3k 3k 3k 3k sk 3k sk 5k 5k 5k 3k 3k 3k sk sk sk sk sk 5k 5k 5k 3k %k %k >k >k %k sk sk ok >k k k k k

GENERATE  (Exponential(1,0,0.25)) ;Order arrives

ASSIGN 1,1,Sizeorder ;Pl=order size

TEST GE S$Stock,P1,Stockout ;Is stock sufficient?

LEAVE Stock,P1 ;Remove P1 from stock
QUEUE Packing

SEIZE Machine ;Get a machine

DEPART Packing

ADVANCE V$Ptime
RELEASE Machine
SAVEVALUE 1+,P1
TABULATE Transit
TERMINATE

Stockout TERMINATE

3K 3k 3k 3K 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k >k 3k 3k 3k 3k 3k 3k 3k >k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k >k 3k 3k 3k 3k 3k >k 3k %k 3k 3k >k 3k %k >k 3k %k 3k 3k %k 3k 3k >k 3k %k %k >k %k 5k k
GENERATE 0.75,0.08334,1 ;Xact every 40+/-5 mins
ENTER Stock,60 ;Make 60, Stock

& increased by 60

Stockad  TERMINATE

3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k %k 3k 3k 3k 3k 3k 3k 3k %k 3k 5k %k 3k 3k 3k 5k %k 3k 3k %k 3k %k 3k 3k %k 3k 5k %k 3k %k 3k 5k %k 3k 5k %k 3k %k 3k 5k %k 3k 5k %k 3k %k %k 5k %k 3k 5k %k 5k k
GENERATE 8
TABULATE  Number
SAVEVALUE 1,0
TERMINATE 1

3k 3k 3k 3k 3k 3k 3k %k %k 3k 3k 3k %k %k 3k 3k 3k 3k 5k %k 3k 3k 3k 3k %k %k 3k 3k 3k 3k %k %k 3k 3k 3k %k %k %k 3k 3k 3k 5k %k %k 3k 3k 3k %k %k 3k 3k 3k 3k %k %k 3k 3k 3k %k %k %k 3k 3k 3k %k %k *k 3k %k %k k

;Packing time

;Free the machine
;Accumulate no. packed
;Record transit time

;Xact every day

GENERATE 551,10 ;Initial stock xact
ENTER Stock,Amount ;Set initial stock
TERMINATE

3k 3k 3k 3k 3k 3k 3k >k %k 3k %k 3k 3k %k %k %k %k 3k >k %k %k 3%k 3k 3k >k %k %k 3k 3k %k >k %k %k %k 3k %k %k %k %k %k 3k >k %k %k %k %k 3k %k %k %k 5%k %k %k >k %k %k %k %k %k %k %k %k %k %k %k %k *k %k %k %k k

; GPSS World Sample File - QCONTROL.GPS, by Gerard F. Cummings

3k 3k 3k 3k 3k 3k %k 3k 3k 3k 5k %k %k 3k 3k 3k 5k %k %k 3k 3k 3k 5k %k 3k 3k 3k 3k %k %k 3k 3k 3k %k %k %k 3k 3k 3k 5k %k %k 3k 3k 3k %k %k %k 3k 3k 3k %k %k 3k 3k 3k %k %k %k >k 3k 3k %k k k

* *

v Quality Control Program v

& Time units are in minutes *

3k 3k 3k 3k 3k %k 5k 3k 3k %k >k >k 3k 3k 5k 5k 5k 5k %k %k %k %k >k 3k 3k 5k 5k 5k >k %k %k %k %k >k 3k 3k 5k 5k 5k 5k %k %k %k %k >k 3k 3k 5k 5k 5k >k %k %k %k %k %k %k 3k >k >k k k k k %k
RMULT 93211

* Definitions

Transit TABLE M1,100,100,20 ;Transit Time

Process FUNCTION RN1,D7
0,0/.05,10/.18,14/.34,21/.56,32/.85,38/1.0,45

3k 3k 3k 3k 3k >k %k %k %k 3k >k >k %k 3k %k 3k >k %k %k %k %k 3k >k %k %k 3k %k %k >k %k %k %k 3k %k %k %k %k %k 3k >k %k %k %k %k %k >k %k %k %k %k %k >k %k *k %k %k %k %k %k %k %k %k %k % k

GENERATE (Exponential(1,0,30))

ASSIGN 1,FN$Process ;Process time in P1
Stagel SEIZE Machinel

ADVANCE P1 ;Process 1

RELEASE Machinel

ADVANCE 2 ;Inspection

TRANSFER .200, ,Reworkl ;20% Need rework
3k 3k 3k sk 3k sk ok 3k sk 3k 3k sk 3k sk ok 3k sk 3k sk sk 3k sk ok %k sk 3k 3k sk 3k sk ok %k sk 3k 3k sk 3k sk 5k %k sk 3k %k dk 3k sk 5k %k sk 3k %k sk 3k sk 5k %k sk 3k %k sk %k %k %k *k %k
Stage?2 SEIZE Machine2

ADVANCE 15,6 ;Process 2

RELEASE Machine2

ADVANCE 2 ;Inspection

TRANSFER .150, ,Rework?2 ;15% Need rework
3k 3k 3k sk 3k 3k ok 3k sk 3k sk sk 3k sk ok 3k sk 3k sk sk 3k sk ok 3k sk 3k 3k sk 3k sk ok %k sk 3k 3k sk 3k sk 5k %k sk 3k %k sk 3k sk 5k %k sk 3k %k sk %k sk 5k %k sk 3k %k sk %k %k %k *k %k
Stage3 SEIZE Machine3

ADVANCE (Normal(l,24,4)) ;Process 3

RELEASE Machine3

ADVANCE 2 ;Inspection 3

TRANSFER .050, ,Rework3 ;5% need rework

TABULATE Transit ;Record transit time

TERMINATE 1

3k 3k 3k 3k 3k 3k %k 3k 3%k 3k 3k %k %k 3k %k 3k %k %k %k 3k 3k 3k %k %k %k 3k 3k %k %k %k %k %k 3k %k %k %k 3%k %k 3k %k %k %k 3%k %k %k >k %k %k %k 3k %k %k %k %k % %k %k %k %k %k %k %k %k k k

Reworkl TRANSFER .400, ,Stagel

TERMINATE

Rework?2 TRANSFER .400, ,Stage?2
TERMINATE

Rework3 TRANSFER .400, ,Stage3
TERMINATE
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Aufgabe 2 - Einstieg in GPSS

; GPSS World Sample File - MANUFACT.GPS, by Gerard F. Cu

3k 3k 3k 3k 3k 3k 5k 3k 3k 3k 3k 3k %k %k 3k 3k 3k 3k %k %k 3k 3k 3k %k %k 3k 3k 3k 3k %k %k 3k 3k 3k %k %k %k 3k 3k 3k %k %k %k 3k 3k %k %k %k >k 3k 3k %k k kK k

Verteilungsfunktionen mussen
nicht erklart werden

JCONTROL.GPS, by Gerard F. Cummings

k 3k 3k 3k 3k 3k 3k %k 3k 3k sk 5k %k 3k 3k 3k 3k %k %k 3k 3k 3k %k %k %k 3k 3k 3k %k %k k 3k %k %k k k ok k

R Manufacturing Company @
3k 3k 3k 3K 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k >k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k %k 3k 3k 3k 3k %k 3k 3k %k 3k 3k >k 3k %k >k 3k %k 3k 3k %k 3k %k >k 3k %k %k >k %k 5k k * Quality Control Program *
¥ errmechit@s s ore o — * * Time units are in minutes *
Sizeorder FUNCTION RNl’D7 ;Oédéﬁ“i‘e 3K 3k 3k 3k 3k 3k 3k 3k 3k %k 3k 3k 3k 3k %k 3k 3k %k 3k 3k 3k 3k 3k 3k 5k %k 3k 5k %k 3k %k >k 5k %k 3k 5k 3k 3k %k 3k 5k %k 3k 5k %k 3k %k >k 5k %k 3k 5k %k 3k %k >k 5k %k 3k 5k %k 3k k %k k
.10,6/.35,12/.65,18/.80,24/.92,30/.97,36/1.0,48 o g RMULT 93211

Trans s sefafifemsmmiive@dbuu@hfop@ueenns=C5Trons i £ time * Definitions

Number TABLE X1,100,100,20 ;No. packed each day Transit Bl % riTransit Time

Ptime VARIABLE .0028#P1+0.0334 ;Packing time Process FUNCTION RN1,D7 T

Amount EQU 1000 ;Initial stock amount

Stock STORAGE 4000 ;Warehouse holds

 0,0/.05,10/.

18,14/.34,21/.56,32/.85,38/1.0,45

B F ok ok 4 ok ok ok ok ok K ok ok ok K ok

GENERATE (Exponential(1,0,30))

; 4000 units
3k 3k 3k 3k 3k sk 3k sk 3k 3k sk 3k sk dk 3k sk 3k 3k Sk 3k sk k 3k sk 3k >k sk 3k 3k 5k %k 3k 3k 3k Sk 3k 3k 5k %k sk 3k >k 3k 3k 3k 5k %k 3k 3k >k 3k 3k >k 5k %k sk 3k %k 3k 3%k >k 5k %k >k 3%k %k %k 5k %k 5k k ASSIGN 1,FN$PFOCESS ;Process time in Pl
GENERATE (Exponential(1,0,0.25)) ;0rder arrives Stagel SEIZE Machinel
ASSIGN 1,1,Sizeorder ;Pl=order size ADVANCE P1 ;Process 1
TEST GE S$Stock,P1,Stockout ;Is stock sufficient? RELEASE Machinel
LEAVE Stock,P1 ;Remove P1 from stock ADVANCE 2 ; Inspection
QUEUE Packing TRANSFER .200, ,Reworkl ;20% Need rework
SEIZE Machine ;Get a maChine 3k 3k 3k 3k 3k ok 3k sk 3k 3k sk 3k sk ok 3k sk 3k sk sk 3k sk ok 3k sk 3k sk sk 3k sk ok %k sk 3k 3k sk 3k sk ok %k sk 3k %k dk 3k sk 5k %k sk 3k %k sk %k >k 5k %k sk 3k %k sk 3k %k %k *k %k Kk
DEPART Packing Stage? SEIZE Machine2
ADVANCE V$Ptime ;Packing time ADVANCE 15,6 ;Process 2
RELEASE Machine ;Free the machine RELEASE Machine2
SAVEVALUE 1+,P1 ;Accumulate no. packed ADVANCE 2 ; Inspection
TABULATE Transit ;Record transit time TRANSFER .150, ,Rework?2 ;15% Need rework
TERMINATE 3k 3k 3k 3k 3k ok 3k sk 3k 3k sk 3k sk ok 3k sk 3k sk sk 3k sk ok 3k sk 3k sk sk 3k sk ok %k sk 3k %k sk 3k 3k ok %k sk 3k %k sk 3k sk 5k %k sk 3k %k sk %k sk 5k %k sk 3k %k sk %k %k %k *k %k Kk
Stockout TERMINATE Stage3 SEIZE Machine3
3K 3k 3k 3K 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k >k 3k 3k 3k 3k 3k 3k 3k >k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k >k 3k 3k 3k 3k 3k >k 3k %k 3k 3k >k 3k %k >k 3k %k 3k 3k %k 3k 3k >k 3k %k %k >k %k 5k k ADVANCE (Norm01(1,24,4)) ;PFOCQSS 3
GENERATE 0.75,0.08334,1 ;Xact every 40+/-5 mins RELEASE Machine3
ENTER Stock, 60 ;Make 60, Stock ADVANCE 2 ;Inspection 3
g increased by 60 TRANSFER .050, ,Rework3 ;5% need rework
Stockad  TERMINATE TABULATE Transit ;Record transit time
3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k %k 3k 3k 3k 3k 3k 3k 3k %k 3k 5k %k 3k 3k 3k 5k %k 3k 3k %k 3k %k 3k 3k %k 3k 5k %k 3k %k 3k 5k %k 3k 5k %k 3k %k 3k 5k %k 3k 5k %k 3k %k %k 5k %k 3k 5k %k 5k k TERMINATE 1
GENERATE 8 ;Xact every day 3k 3k 3k 3k 3k 3k 3k 3k sk 3k 3k 3k 3k >k 3k 3k sk 3k 3k 3k 3k sk 3k 3k sk 3k 3k 3k 3k 3k 3k 3k sk 3k 3k 3k 3k >k 3k %k sk 3k %k 3k 3k 3k 3k %k k 3k %k 3k 3k 3k 3k %k >k 3k %k %k >k %k 5k *k k
TABULATE  Number Reworkl TRANSFER .400, ,Stagel
SAVEVALUE 1,0 TERMINATE
TERMINATE 1 Rework?2 TRANSFER .400, ,Stage?2
3k 3k 3k 3k 3k sk 3k sk 3k 3k sk 3k sk ok 3k sk 3k 3k Sk 3k 3k 5k 3k sk 3k >k Sk 3k 3k 5k 3k 3k 3k 3k sk 3k 3k 5k %k sk 3k >k 3k 3k sk 5k %k sk 3k >k 3k 3k >k 5k %k >k 3k >k 3k 3%k >k 5k %k >k 3k %k %k *k %k 5k k TERMINATE
GENERATE 551,10 ;Initial stock xact Rework3 TRANSFER .400, ,Stage3
ENTER Stock,Amount ;Set initial stock TERMINATE
TERMINATE

3k 3k 3k 3k 3k 3k 3k >k %k 3k %k 3k 3k %k %k %k %k 3k >k %k %k 3%k 3k 3k >k %k %k 3k 3k %k >k %k %k %k 3k %k %k %k %k %k 3k >k %k %k %k %k 3k %k %k %k 5%k %k %k >k %k %k %k %k %k %k %k %k %k %k %k %k *k %k %k %k k
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Aufgabe 2 - Einstieg in GPSS

; GPSS World Sample File - MANUFACT.GPS, by Gerard F. Cu

3k 3k 3k 3k 3k 3k 5k 3k 3k 3k 3k 3k %k %k 3k 3k 3k 3k %k %k 3k 3k 3k %k %k 3k 3k 3k 3k %k %k 3k 3k 3k %k %k %k 3k 3k 3k %k %k %k 3k 3k %k %k %k >k 3k 3k %k k kK k

Verteilungsfunktionen mussen
nicht erklart werden

JCONTROL.GPS, by Gerard F. Cummings

k 3k 3k 3k 3k 3k 3k %k 3k 3k sk 5k %k 3k 3k 3k 3k %k %k 3k 3k 3k %k %k %k 3k 3k 3k %k %k k 3k %k %k k k ok k

R Manufacturing Company @
3k 3k 3k 3K 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k >k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k %k 3k 3k 3k 3k %k 3k 3k %k 3k 3k >k 3k %k >k 3k %k 3k 3k %k 3k %k >k 3k %k %k >k %k 5k k * Quality Control Program *
¥ remectes Uit orieo o * * Time units are in minutes *
Sizeorder FUNCTION RNl’D7 ;Ordéf“i‘e 3K 3k 3k 3k 3k 3k 3k 3k 3k %k 3k 3k 3k 3k %k 3k 3k %k 3k 3k 3k 3k 3k 3k 5k %k 3k 5k %k 3k %k >k 5k %k 3k 5k 3k 3k %k 3k 5k %k 3k 5k %k 3k %k >k 5k %k 3k 5k %k 3k %k >k 5k %k 3k 5k %k 3k k %k k
.10,6/.35,12/.65,18/.80,24/.92,30/.97,36/1.0,48 o RMULT 93211
Tran e TR dBrun@Gap ST 0 n g i £ time * Definitions
Number TABLE X1,100,100,20 ;No. packed each day Transit Bl % ;Transit Time
Ptime VARIABLE  .0028#P1+0.0334 ;Packing time Process FUNCTION RN1,D7 T
Amount EQU 1000 ;Initial stock amount 0,0/.05,10/.18,14/.34,21/.56,32/.85,38/1.0,45 .
Stock STORAGE 4000 ;Warehouse holds TR KB R R R AR R AR AR kol ST K o ko ok ok K ok Kok Kok ok ok
; 4000 units GENERATE (Exponential(1,0,30))
3k 3k 3k 3k 3k sk 3k sk 3k 3k sk 3k sk dk 3k sk 3k 3k Sk 3k sk k 3k sk 3k >k sk 3k 3k 5k %k 3k 3k 3k Sk 3k 3k 5k %k sk 3k >k 3k 3k 3k 5k %k 3k 3k >k 3k 3k >k 5k %k sk 3k %k 3k 3%k >k 5k %k >k 3%k %k %k 5k %k 5k k ASSIGN 1,FN$PFOCESS ;Process time in Pl
GENERATE (Exponential(1,0,0.25)) ;0rder arrives Stagel SEIZE Machinel
ASSIGN 1,1,Sizeorder ;Pl=order size ADVANCE P1 ;Process 1
TEST GE S$Stock,P1,Stockout ;Is stock sufficient? RELEASE Machinel
LEAVE Stock,P1 ;Remove P1 from stock ADVANCE 2 ; Inspection
QUEUE Packing TRANSFER .200, ,Reworkl ;20% Need rework
SEIZE MaChine ;Get a maChine 3k 3k 3k 3k 3k ok 3k sk 3k 3k sk 3k sk ok 3k sk 3k sk sk 3k sk ok 3k sk 3k sk sk 3k sk ok %k sk 3k 3k sk 3k sk ok %k sk 3k %k dk 3k sk 5k %k sk 3k %k sk %k >k 5k %k sk 3k %k sk 3k %k %k *k %k Kk
DEPART Packing Stage? SEIZE Machine2
ADVANCE V$Ptime ;Packing time ADVANCE 15,6 ;Process 2
RELEASE Machine ;Free the machine RELEASE Machine2
SAVEVALUE 1+,P1 ;Accumulate no. packed ADVANCE 2 ; Inspection
TABULATE Transit ;Record transit time TRANSFER .150, ,Rework?2 ;15% Need rework
TERMINATE 3k 3k 3k 3k 3k ok 3k sk 3k 3k sk 3k sk ok 3k sk 3k sk sk 3k sk ok 3k sk 3k sk sk 3k sk ok %k sk 3k %k sk 3k 3k ok %k sk 3k %k sk 3k sk 5k %k sk 3k %k sk %k sk 5k %k sk 3k %k sk %k %k %k *k %k Kk
Stockout TERMINATE Stage3 SEIZE Machine3
3K 3k 3k 3K 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k >k 3k 3k 3k 3k 3k 3k 3k >k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k >k 3k 3k 3k 3k 3k >k 3k %k 3k 3k >k 3k %k >k 3k %k 3k 3k %k 3k 3k >k 3k %k %k >k %k 5k k ADVANCE (Norm01(1,24,4)) ;PFOCQSS 3
GENERATE 0.75,0.08334,1 ;Xact every 40+/-5 mins RELEASE Machine3
ENTER Stock, 60 ;Make 60, Stock ADVANCE 2 ;Inspection 3
g increased by 60 TRANSFER .050, ,Rework3 ;5% need rework
Stockad  TERMINATE TABULATE Transit ;Record transit time
3k 3k 3k 3 3k 3k 3k 3k 3k %k 3k 3k 3k 3k 3k 3k 3k %k 3k 3k %k 3k 3k 3k 3k %k 3k 5k %k 3k 3k %k 5k %k %k >k %k 3}
GENERATE 8 K 3k 3k 3k 3k 3k 3k 3k 3k sk 3k 3k sk 3k sk 3k 3k sk 3k 3k 3k 3k sk ok %k sk 3k %k %k k %k k

TABULATE  Number
SAVEVALUE 1,0
TERMINATE 1

3k 3k 3k 3k 3k 3k 3k 3k %k 3k 3k 3k 5k %k %k 3k 3k 3k %k %k 3k 3k 3k 3k %k %k 3k 3k 3k 3k %k %k 3k 3k %k %k k ¥

GENERATE ,,,1,1@ yLIILLLUL DLULK AULL NEWUI KO
ENTER Stock,Amount ;Set initial stock
TERMINATE

3k 3k 3k 3k 3k 3k 3k >k %k 3k %k 3k 3k %k %k %k %k 3k >k %k %k 3%k 3k 3k >k %k %k 3k 3k %k >k %k %k %k 3k %k %k %k %k %k 3k >k %k %k %k %k 3k %k %k %k 5%k %k %k >k %k %k %k %k %k %k %k %k %k %k %k %k *k %k %k %k k

Weitere Informationen auf ..
Praktikumsseite

INANODTI CN\

TERMINATE

.wuu,,ouage3
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GPSS-Entwicklungsumgebung

‘% GPSS World - simple:3 -10| x|
File Edit Search WYiew Command Window Help

D& &|5=|@ &2
_io/x]

GENERATE 2
SEIZE A
ADVANCE 10
RELEASE A
TERMINATE 1

[For Help, press F1 Report is Complete, (|Clock Y/

Mittwoch, 28. April



Beispiel: Iwo-Equal-Barbers
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Beispiel: Iwo-Equal-Barbers

Wort-Bild-Modell
Kunden mit .
TBA=? Ungeduldige

00 _)<> gehen

[BQ < Ma7 {w]
Q Q:——»

B X

| Warte-

schlange 2 Barbier
fur beide ST=10
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Beispiel: Iwo-Equal-Barbers

Wort-Bild-Modell
Kunden mit ,
TBA=? Ungeduldige

00 _)<> gehen

[BQ<Ma7 {&e]
- ©

B — | X
| Warte- :
schlange 2 Barbier
fur beide ST=10

[Label]

MaxQLen

Barbl

Barb?2

Impatient
LeaveS

Block/
Command

EQU

GENERATE
TEST L
QUEUE
TRANSFER

SEIZE
DEPART
ADVANCE
RELEASE
TRANSFER

SEIZE
DEPART
ADVANCE
RELEASE
TRANSFER

SAVEVALUE
TERMINATE

Op, Params

GPSS-

- Programm
2

Q$BarbersQ,MaxQLen,Impatient

BarbersQ
BOTH,Barbl,Barb?2

Barberl
BarbersQ
10
Barberl
,LeaveS

Barber?
BarbersQ
10
Barber?
,LeaveS

ICount+,1
1

Mittwoch, 28. April



G PSS " NERATE

A GENERATE Block creates Transactions for future entry into the simulation.
GENERATEABCD,E
Operands

: GPSS World - two-equal-barbers A - Mean inter generation time. Oponal. The opetand must be Null, Name, Number, String, ParenthesizedExpression, of DIntctSNA. You may not use
File Edk Search View Command Window Help Thmeachcn Pasmetus, o
B- wmlmh‘Wumew The operand must be Nuli, Name, Numbey, Siing, PareniheszedExpression, o

D6 &|%(@ 82w Dot Yo e T ancton

C - Start delay Sme. Time increment for the first Transaction. Opsonal. The cperand must be Null, Name, Number, String. PaventhesizedExprossion, or
DirectSNA. You may not use Transaction Parameters.

B two-equal-barbers D - Creation limit. The default is no limit. Optional. The operand must be Nufl, Name, Posinfeger, String, ParenthesizedExpression, or DirectSNA. You

ray not use Transacion Parameters

PR TR TR T ATAT AR EASRASRATRS
E - Pricrity level. Optional. Zero is he defaull The cperand must be Null. Name, infager, Siing, ParenthesizedExpression, of DiectSNA. You may not use

* Two-Equal-Barbers-3ystem Transacson Paramatens

*

* — one queus for two barbers

‘ Example

* — new customers leave if queus count has reached &
® others wait until one barbers becomes free GENERATE 0.1

This is the sierplest way 1 use he GENERATE Block. This Block causes 8 prority 260 Transaction 10 enter the simulaon every lenth of & time unit
* gqueus count at wvhich customers leave imwediactely
MaxQLen EQU 2

Action
GENERATE 2 :M?oﬂmcw;&mummmw n%agwﬂfmm:h?mr mﬂuﬂmbmn
TEST L Q${BarbersQ, MaxQLen, Impatient ant Coecand G can he used & a0 .. ant four e 4 .. » NG “' " m :

QUEUE BarbersQ
TRANSFER BOTH, Barbl, Barb2

Barbl SEIZE Barberl
DEPART BarbersQ
ADVANCE 10
RELEASE Barberl
TRANSFER ,Leaves

Bezugsquelle:
Barb2 SEIZE| Barber2 g q

el http://www.minutemansoftware.com
TRANEFER Leaves GPSS-Studentenversion (max. |80 Blocke),

Impatient SAVEVALUE ICount+,1

Leaves | TERNINATE 1 Sprachreferenz, Tutorials
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} for future entry into the simulation.
-GENERATE AB,C,D.E

e Null, Name, Number, Sting, ParenthesizedExprassion, or DirectSNA. You may not use
2. TELEPHON.GPS — Simulation of a simple telephone system. ,

- B onal. The operand must be Null, Name, Numbey, Siing, Parenihes’zedExpression, o 0
4, TVREPAIR.GPS — Simulation of a television repair shop Dpsonal. The cperand must be Null, Name, Number, Sting. ParenthesizedExprossion, of
5. QCONTROL.GPS — Simulation of a quality control system
6. ORDERPNT.GPS — Simulation of an order point inventory system
7. MANUFACT.GPS — Simulation of an electronics manufacturing system
8. JEXTILE.GPS — Simulation of a textile factory
9. OILDEPOT.GPS — Simulation of an oil storage depot
10. ASSEMBLY.GPS — Simulation of a pump assembly process
11. ROBOTFMS.GPS — Simulation of a robot operated FMS
12. BICYCLE.GPS — Simulation of a bicvcle factorv

nd must be Nufl, Name, Posinteger, String, ParenthesizedExpression, or DirectSNA. You

st be Null, Name, infleger, Siing, ParenthesizedExpression, or DirectSNA. You may not use

Bied upon 10 schedude its
gy have a positve Sme .

http://www.minutemansoftware.com/tutorial/tutorial_manual.htm

17. TRAFFIC.GPS — Simulation of traffic at a T-junction _-

18. POWDER.GPS — Simulation of customer brand loyalty

TRANSFER ,Leavel

bezugsquelle:
Barb2 SEIZE| Barber2 .
el http://www.minutemansoftware.com

RELEASE Barber2

TRANSFER Leaves GPSS-Studentenversion (max. |80 Blocke),

Impatient SAVEVALUE ICount+,1

Leaves | TERNINATE 1 Sprachreferenz, Tutorials
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